The public sector spent £8.5 billion on transport in London
during 2015-16. London received more than a quarter of the
UK'’s expenditure on transport, but this reflects the
demand and need for transport in the capital.
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Investing in London
is beneficial to the rest of the UK

Goods and services needed to run
London’s transport network
come from across the UK

London is a net contributor
to the Exchequer

£140 billion in tax

London increasingly pays
for its own transport

of the cost of Crossrail 1
is from London businesses
and Londoners
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